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QUESTION ONE ASSESSOR'S

USE ONLY

(a) The rectangle and square, shown below, have the same perimeter as each other.

Diagram is
7 NOT to scale

3x—-5

5x+3
7
Find the value of x.
(b)  Simplify as f ble — =2
impli r 1 —_—.
plify as far as possible S’ — 22115
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X - x—6 3x ASSESSOR’S

Solve the foll i ti _ USE ONLY
(c) Solve the following equation Proxtld 2
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(d)

4

Hinewai played netball on Monday, Tuesday, and Wednesday.

On Tuesday, she scored three times as many goals as she did on Monday.

On Wednesday, she scored 16 more goals than she did on Monday.

Hinewai scored a total of 111 goals over the three days.

How many goals did she score on Wednesday?
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The formula for the surface area, A cm?, of a closed circular cylinder,
where 7 is the radius in cm, and /4 is the height in cm, is given by

A=2mnr (r+h)

Find the radius of the cylinder with surface area 27n cm? and height
7.5 cm.

«o

T, 1
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QUESTION TWO

(a) (1) Find the perimeter of the right-angled triangle shown below.

Fully simplify the expression.

42+ Tx +y

(i1) If the area of this same triangle shown above is 7 cm?, then find the value of x.

1 .
Area of a triangle = > X base X height.

All measurements are in cm.

3x+2

Diagram is
NOT to scale
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(b) Find an equation for p, in terms of g, if 27 x 37724 =93¢, ASSESSOR'S

USE ONLY

(c) A company makes calculators.
The total cost, $P, of making n calculators is given by the formula
P=2a+bn
where a and b are some fixed numbers.

The cost of making 60 calculators is $740.
The cost of making 160 calculators is $840.

Calculate the cost of making 300 calculators.

Mathematics and Statistics 91027 (Day 2), 2022



8

(d) Show that if you add the squares of three consecutive even numbers and then add 4, ASSESSOR'S
the result is a multiple of 3.
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QUESTION THREE ASSESSOR'S

USE ONLY

(a) Find the value of 5+2(4x)?> —z) whenx=2,y=-2,z=12.
3% Y

(b)  Solve the equation 5 x 23~ 12 =40,
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(©)

Using the two squares drawn below, calculate how much bigger the area of square A is than

the area of square B.

10

2x —4y

2x +4y
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(d) Anahira wants to make a path around her vegetable patch, as shown in the diagram below. ASSESSOR'S
D S > Diagram is
4 ; NOT to scale
! v
L <x»
15 Vi
B egetable patch
| A
1 X
v v
D R dx —-—--=---------- >

The path has three rectangular sections. All measurements are in metres.

Anahira has concrete to make a path with a total area of 9 m?.

Find the width, x, of the path.

Question Three continues
on the next page.
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(e) The number of small squares used in the n™ shape of a pattern is given by n* — 3. ASSESSOR'S
q p p g y

USE ONLY

Show that the difference in the number of small squares used between two consecutive
odd-numbered shapes is always divisible by 2.
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ASSESSOR’S

Extra space if required. USE ONLY
Write the question number(s) if applicable.

QUESTION
NUMBER
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ASSESSOR’S

Extra space if required. USE ONLY
Write the question number(s) if applicable.

QUESTION
NUMBER

Mathematics and Statistics 91027 (Day 2), 2022



15

ASSESSOR’S

Extra space if required. USE ONLY
Write the question number(s) if applicable.

QUESTION
NUMBER
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ASSESSOR’S

Extra space if required. USE ONLY
Write the question number(s) if applicable.

QUESTION
NUMBER
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